

$$\langle x^2 \rangle = \int_{-\infty}^{\infty} x^2 \cdot A e^{-\lambda(x-a)^2} dx$$

$$= A \int_{-\infty}^{\infty} (y+a)^2 \cdot e^{-\lambda y^2} dy$$

$$= A \left[ \int_{-\infty}^{\infty} y^2 \cdot e^{-\lambda y^2} dy + \int_{-\infty}^{\infty} 2ay \cdot e^{-\lambda y^2} dy + \int_{-\infty}^{\infty} a^2 \cdot e^{-\lambda y^2} dy \right]$$

for integral 1.0  $\int_{-\infty}^{\infty} x^{2n} e^{-ax^2} dx = \frac{(2n-1)!!}{2^{n+1} a^{n+1/2}} \sqrt{\frac{\pi}{a}}$

for  $n=1$

$$\int_{-\infty}^{\infty} x^2 e^{-ax^2} dx = \frac{1}{2} \sqrt{\frac{\pi}{a}}$$

integral 1.0  $= \frac{1}{2} \sqrt{\frac{\pi}{\lambda}}$ ,  $A = \sqrt{\frac{\lambda}{\pi}}$

integral 2.0  $= A \cdot a^2 \cdot \frac{1}{\lambda} = a^2$

$$\Rightarrow \langle x^2 \rangle = a^2 + \frac{1}{2\lambda}$$

$$\langle x \rangle^2 = a^2 \Rightarrow \frac{1}{2\lambda} = \frac{1}{2\lambda} \cdot \frac{1}{2\lambda} = \frac{1}{4\lambda^2}$$

Gaussian Dist.  $\int_{-\infty}^{\infty} \lambda \cdot \exp(-\lambda(x-a)^2) dx$

mean  $\langle x \rangle = a$ ,  $\sigma = \frac{1}{\sqrt{2\lambda}}$ ,  $\sigma^2 = \frac{1}{2\lambda}$

$$A = \sqrt{\frac{\lambda}{\pi}}, A^2 = \frac{\lambda}{\pi} = \frac{1}{\pi \sigma^2} \Rightarrow A = \frac{1}{\sigma \sqrt{\pi}}$$